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Multiple Choice Questions

1.

Which one of the following is a ST unit ?
(1) Kg 2)ymS?! 3 C 4)Cm Bk

2. In the expression C =/ P/k , Cis velocity and P is pressure. Units of k would be,

(1) kg m?! 2) kg s! 3) kgs'm? 4 st (5) kgm?
3. Volume of the represented object in terms of the shown measurements equals to,
n(dy-d)*h
(1) 7 (dz-d)?h (2 B dh
(3) ®(dy?*-di))h 4 5 @?-d)h
(5) Fd?-dd)h
4. A measuring cylinder of diameter D is filled with water
upto 6 cm. When adding that water into another measur-
ing cylinder of diameter 2 D , the height of the water column -
would be, -
(1) 1.5¢em B
(2)3cm 6cm
3)2cm
(4) 2.5cm
(5)4cm —

—
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5. In a circle , the angle substended at the centre by an arc of lengtyh equals to the radius is said to be a radian. The
angle substended by the whole circumference of the circle at centre , in radians would be,
12 (2) 4 (€
2= 5) 4=
l6. A regular square and a circular frame are made by a wire of
uniform thickness,
The ratio Mass of the square equals to,
Mass of the frame
2 4 -
() — @ 3) 2
(4) 4 G)2=n
7. C is the point which divides the distance D to the A E C B
ratio 4 : 1. E is the point which divides AB to the ¢ ¢ ®
ratio 2 ; 3. D
AC
—— equals to,
3 2 4 5 2
= = = 4) = =
M @3 33 @3 53
18. The direction an object, kept on a smooth table tends to travel 12N
, when four forces are exerted on it parallel to the plane of the D, ,A
table is, R P
(1) OA S ]
(2) OB 2N -~ o 6N
@) oc e =
4) OD -7 AN
(5) Remains at rest without moving towards any direction c‘r 8N \.B
9. The quantities L and T in the expression f = %J /% were doubled. In order to keep the value of 'f' constant
the value of m has to be,
(1) doubled (2) multiplied by four
(3) multiplied by V2 (4) halved
(5) multiplied by 1/V2
10. Ifaperson sells toffees such that two toffees worth one rupee, which were bought at a rate of three toffees for one
rupee, the percentage of the profit he obtained by selling toffees is,
0 4 2 20 4 3) 50 % @) 25 % 5) 60 %
\. 3 3 y,
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